5"na"7'on 3, n"a.7"0a

— 2P} oM RIAN RINT AT TIRON
It teaches us by saying Xx»n Xx%77; in any event

OVERVIEW

The oo states' that if the 7221 is found 172 (in his hand) he is required to
pay 793. The Xn»12 teaches how we know that he is 211 even if it was found
in his 2¥m, etc.; since the P09 writes the general term X¥nn X¥n7, he is
always 211 regardless where it was found (in his possession). mdoIn first
questions and then resolves the manner of the interpretation of this P105.

nooIN asks:
— 10993V NN NIN HHOA PPN VI9) KDY VI 1793 DD RENH NENN NI 9INN ON)

And if you will say; and let us say that the words Nx»n Nx»7 are a
generalization, and the word Y792 is a specific term, which makes the phrase
of 17°2 X¥»N K¥NT a vy 92 where the rule is that the %95 contains no more

2 . . )
than the ©92;” since the v1o specifies 17, therefore the 973 cannot contain more than 17°
and we cannot include anything else besides 17°. How does the Xn>>72 include 177¥m 1337?!

N1B0IN answers:
— 9591 V491 599 %Y 5N RENPN KENN 13 11 STY 1Y Y

And one can say; place the word 17> in between the words Xxnn 82277 (as if
it were written X¥2n 17°2 X¥»7), which makes it a %921 w191 b5s.

mooIn proves that we can make such a maneuver:
— (oW 3,70 97 NP N32) D292 1II9INRTD

As the X773 states in 71219% P79 concerning a %931 0191 993 -
— ©1%3%2 V99 YVN NTY AT PINDN MYY %Y KM NNNY 0PN Y

Anywhere where you find two nm%»> which are adjacent to each other
(such as X¥nn Xxn7) place the v9p in between them to make a 5931 v91 572,

mdoIN anticipates (and responds) to a similar difficulty:
- NP2 413'\)1): ) N29197 V) *2) TP 1

12,20 (o°vown) mnw.

? When the 7790 writes a %23 (a general term such as x¥an x¥»71) followed by a vI9 (a specific term such as
17°) the rule is that it we follow only the v75 to the exclusion of all else.

? The rule by a 921 v 993 is that we include anything which is similar to the v1; in this case 7.
Therefore we say just as 17° is his M, similarly anything which is his N9 such as 195791 17°%17 13 are also
included in 17°2 XXnn XX,

#3011 is a general term (he can give the b3 anywhere) as opposed to 77°2 which is a specific term.
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And similarly’ shortly in the X713 regarding v, where we include placing
the vi on ‘her roof’ (as a proper receiving of her v3), for we derive it from

7792 Y01, since 101 is a general and inclusive term it includes 733 as well. We could
seemingly ask the same question there, that Jn21is a 93 and 77°2 is a v, so it should be
considered as a ©v191 992 where the rule is vI92W 77 XX %922 X and a v will have to be
placed only 777°2 and not by 21 777 733 —

mooIn responds:
:999) 910 “NnYYY Y vs

one can also say that the word nmbwn (which follows 772 1n1) is the
concluding %92; so there too we have a %21 1791 995 to include 7% 3.

SUMMARY
The inclusions (and additions) based on 17°2 X¥nn ®x»7 and (72WY) 77°2 100
are to be understood as cases of 7921 191 H93.

THINKING IT OVER

According to 901N why does the X3 say that we include 121 17°Xm a3 by
172713 and va from a "127 (of RXX¥nN XXM or 1N1), when really we derive it from
a 5991 1 Y957

> The similarity is that we derive them both from a 7221 1191 %% and not from (merely) a »12™ as it appears
from the X3 However, they are not completely similar, for by 712°1 we arrive at the 9931 v91 993 by
inserting 17°2 between X¥nn X¥»71, and by va it is a regular 2931 91 995 from AM>WY 77°2 100

% amw1 (and he sends her away) is also a general term; he sends her away in any manner he chooses.

7 The question would seem to be even stronger by v where the last 995 of 72w is not mentioned at all in
the X3 (as opposed to R¥»n X¥N7T where both 0°975 are at least mentioned [albeit not as a 921 1191 92]).
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